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1. Which is larger 00 42 %7

1. o
- 18
2. Which is larger 29% or 50 ?
2.
36 4 18 18 6 3
derFDP (11) 1) 42 —=—=A 4 42 2) — (—==— — =
order (11) 1) %(90 10 0%, 40% < 42%) )60 (60 50' ' 10 30%, 30% >29%)
64 64 16 8 24 8 4
64 64 16 8 o )41 % (2 = 2 or £ = 40%, 41
) %0 (80 50 %" 10 %, 80%>78%) ) 41 % (60 50 * 10 0%, 41%>39%)
D 36
1. Which is larger 00 42 %7
1. ..
N 18
2. Which is larger 29% or w0 ?
2.
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64
3. Igor got 20 of his science test.

He got 78% in his English test.

Igor wants to know in which of these tests he got a higher mark.
Which is Igor’s higher mark science or English?

You must explain your reasoning.

24
4. Which is larger a0 & 41%7

You must explain your reason

64
3. Igor got 30 of his science test.

He got 78% in his English test.

[gor wants to know in which of these tests he got a higher mark.
Which is Igor’s higher mark science or English?

You must explain your reasoning.

24
4. Which is larger a0 & 41%7

You must explain your reason
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